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pentagon
hypotenuse
sector
prism
rhombus
chord
sphere
latitude

- (10)(6)(4) = 240 in3
Area = area of two circles plus
area of "unrolled" rectangle =

2

2Tr¢ + 2Tirh =

2(3.14)(52) + 23.14)(5) (6) -

157 +188.4 = 345.4 in?

(zJ_)(SJ—) (5)V610 -
60 _10fJ_5_10 (215 -

zoJ_

3\/7—2\/ﬁ+5\/_3—:

cannot be simplified

3\/7—2\/7+i —%\/_=

3-2+i—% J7 = 1+‘72 I =

S)V7 =(0)V7 =0

(1+(
V31 W2 2 2

Jo V2 T 2V2 T4 2

(N-2)180° =

((6)-2)180°= (4)180°=

720° total

720°+6 = 120° per angle
360°: The sum of the exterior
angles of a regular polygon is
always 360°.
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74
A=nr2z<2—72><74>

]—?4—=154ft2

\x

C=2mr=

(= )( \7\
=44 ft

check with protractor

area of 4 triangular faces:

1
A=4(—bh)=
(2 )

(a1 )(a)(s) -
area of base:
A =(4)(4) =16 in?

total area = 40+16 =56 in2

40 in?

The measure of an intercepted
arc is the same as the measure
of the central angle that
intercepts it, so m£AXC = 82°
The measure of an inscribed
angle is half the measure of the
arc it intercepts, so

m/ABC = 82°+2 = 41°

2 2 2

Leg = Hypotenuse“ or

2412 —H2 or A2 +B2 = C?

+Leg

12+ 62 =102
2+36 =100

12 - 64
L-8ft
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2. 12.2_(i3)
12+4-13
12-9
L = 3 units
3. (22 ) e(v2) - 12
2)(2V2v2 +(5)(s)V2v2 = H?
4\/7+5\/? - H2
4(2)+25(2) = H2
8450 = H2
58 = H2

V58 units =H
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230 SOLUTIONS

Test 20
T B
2. D
3. C
4. E:
51 “B:
6: -A:
7. G
8. A:
9. B

10: E:
11 A
12. -C
13. D
14. A
15, E:

Test 21
1. =B
2. A
3. D:
4. B:
5 €

. scalene
: 2 times as long

hypotenuse

. congruent
. isosceles

Pythagorean theorem

both legs = \/3+\/_ = 2\/3

A, Band C

. 7 because itis a

45°-45°-90° triangle
and the legs are congruent

: 7\/? by rule for

45°-45°-90° triangles

© mza =180°-(90°+450) =

180°-135°= 45°

. 2V 3 because the legs

are congruent

Zﬁx/_=2 6 so none

of the above

: 180°-(60°+30°) =

180°-90°=90°

dividing by 2

: ﬁtimes as long
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